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Which of the following information must you specify when you create a new project in SAP
Web IDE for SAP HANA? There are 2 correct answers to this question.
 
A. SAP HANA database version 
B. Project name 
C. Template 
D. Namespace 
 

Answer: B,D

 

 

You need to create a native SAP HANA application that fully leverages the SAP HANA
platform. How do you implement data-intensive
 
calculations?
 
Please choose the correct answer.
 
A. Push the calculations onto the application layer. 
B. Push the calculations onto the database layer 
C. Push the calculations onto the presentation layer. 
D. Distribute calculations between application layer and presentation layer. 
 

Answer: B

 

 

What are the disadvantages when deploying Dynamic SQL? There are 2 correct answers
to this question.
 
A. Limited opportunities for optimization 
B. No possibility to bind the result to a SQL Script variable 
C. No possibility to use SQL Script variables 
D. Additional SQL execution privileges are required 
 

Answer: A,B
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You need to check user input data in your OData request. Which exit type do you use?
Please choose the correct answer.
 
A. Consistency 
B. Modification 
C. Validation 
D. Verification 
 

Answer: C

 

 

Which OData capacities are supported in SAP HANA extended application services,
advanced model (XSA)? There are 3 correct answers to this question.
 
A. Union 
B. Aggregation 
C. Join 
D. Projection 
E. Association 
 

Answer: B,D,E

 

 

Which functionality is provided by SAP WeblDE for SAP HANA? There are 2 correct
answers to this question.
 
A. Syntax-aware editors for code 
B. User management 
C. Build and deploy applications 
D. Organization and space management 
 

Answer: A,C
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From which tool can you run the XS command line? Please choose the correct answer.
 
A. Local operating system shell 
B. SAP HANA studio 
C. SAP WeblDE for SAP HANA 
D. SAP HANA cockpit 
 

Answer: A

 

 

You develop an OData service using XSODATA. Which HTTP commands can you use to
define the operations on the resources? There are 3 correct answers to this question.
 
A. DPUT 
B. READ 
C. INSERT 
D. POST 
E. DGET 
 

Answer: A,D,E

 

 

You work on a multi-target application that uses the SAP HANA Deployment Infrastructure
(HDI). Which operations can you perform in
 
the SAP Web IDE for SAP HANA?
 
There are 2 correct answers to this question.
 
A. Create objects in the SAP HANA repository. 
B. Deploy HTML5 modules to the SAP HANA database. 
C. Choose the supported SAP HANA versions. 
D. Configure the artifact namespaces. 
 

Answer: A,B
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Which OData capacity do you use when you need to restrict the number or selection of
exposed columns? Please choose the correct answer.
 
A. Parameter entity sets 
B. Aggregation 
C. Key specification 
D. Property projection 
 

Answer: D

 

 

You need to view the data model exposed by an OData V2 service. What must you append
to the service URL? Please choose the correct answer.
 
A. $schema 
B. $service definition 
C. $metadata 
D. $format 
 

Answer: C

 

 

Which of the following activities are part of the development lifecycle using SAP HANA
extended application services, advanced model
 
(XS advanced)?
 
There are 2 correct answers to this question.
 
A. Export the project as an MTA archive. 
B. Activate artifacts via _SYS_REPO. 
C. Store the source in the SAP HANA repository. 
D. Create an MTA project. 
 

Answer: A,D
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What are the characteristics of SAP HANA calculation views? There are 2 correct answers
to this question.
 
A. Need an application server to execute 
B. Need database tables to execute 
C. Do NOT need database tables to execute 
D. Do NOT need an application server to execute 
 

Answer: B,D

 

 

Which activities do you perform on an application in the SAP HANA XS Advanced Cockpit?
There are 2 correct answers to this question.
 
A. Monitor applications assigned to the current space. 
B. Deploy applications to SAP Cloud Platform. 
C. Display HDI container content. 
D. Start, stop, and restart applications. 
 

Answer: A,D

 

 

You implement a native SAP HANA application using SAP HANA extended application
services, advanced model (XS advanced) and SAPUI5. Where is the UI rendering
executed? Please choose the correct answer.
 
A. On the SAPUI5 HTML5 module 
B. On the SAP Fiori front-end server 
C. On the front-end client device 
D. On the XS advanced application server 
 

Answer: A

 

 

In application development with XS advanced, which of the following entities belong to a
specific SPACE? There are 2 correct answers to this question.

Question No : 14

Question No : 15

Question No : 16

SAP C_HANADEV_18 : Practice Test

6



A. Organizations 
B. Users 
C. Applications 
D. Processes 
 

Answer: A,D

 

 

Which OData service do you use to prevent changes to existing line items of the sap.test
:myTable table? Please choose the correct answer.
 
A)
 

 
B)
 

 
C)
 

 
D)
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A. Option A 
B. Option B 
C. Option C 
D. Option D 
 

Answer: C

 

 

What are some of the advantages of SQLScript compared to plain SQL queries? There are
2 correct answers to this question.
 
A. It enables modular parameterized programing. 
B. lt increases performance by parallel execution of complex SQL statements. 
C. It contains a well-defined ANSI standard. 
D. It retrieves a high data volume from a database. 
 

Answer: A,B

 

 

Which artifacts do you define in the persistence model to access objects in an external
SAP HANA Deployment Infrastructure container? Please choose the correct answer.
 
A. Views 
B. Synonyms 
C. Imports 
D. Procedures 
 

Answer: B

 

 

Which configuration file indicates the program that is executed upon start up when you run
the Node.js module? Please choose the correct answer.
 
A. package.json 
B. project.json 
C. server.js 
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D. mta.yaml 
 

Answer: A

 

 

To perform a specific task of an XS advanced application, what does a user need? Please
choose the correct answer.
 
A. To have directly assigned a Role Collection 
B. To have directly assigned a Scope 
C. To be assigned to an Organization 
D. To be assigned to a Space 
 

Answer: A

 

 

Which tool do you use to create a calculation view in a multi-target application? Please
choose the correct answer.
 
A. SAP Web IDE for SAP HANA 
B. SAP HANA database explorer 
C. SAP HANA Web-based Development Workbench 
D. SAP HANA studio 
 

Answer: A

 

 

What are the issue categories that SQL Script Code Analyser scans for? There are 3
correct answers to this question.
 
A. Performance 
B. Privileges 
C. Security 
D. Business logic 
E. Consistency 
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